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GCSE MATHEMATICS UNITISED UNIT 3 4353-01

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 1433 7.3 1.3 8 91.2 100

2 1431 1.5 0.6 2 76.6 99.9

3 1411 1.5 0.6 2 77.2 98.5

4 1390 1.6 0.8 2 78.1 97

5 1361 1.2 1 2 60.2 95

6 1432 4.6 2.1 9 50.9 99.9

7 1342 2.2 1.6 4 54.5 93.7

8 1407 5.2 2 7 74.1 98.2

9 1325 2.8 2.2 5 55.1 92.5

10 1383 3.4 1.8 5 68.2 96.5

11 1203 0.8 1.4 4 19 84

12 1377 1.7 1.1 3 57.5 96.1

13 1426 4.3 1.5 6 72.2 99.5

14 1261 1.1 1.1 3 36.5 88

15 1272 1.3 1.8 4 33.3 88.8

16 1253 0.7 0.6 3 23.5 87.4

17 1379 1.6 1.7 7 22.3 96.2

18 1301 2 1.7 4 49.3 90.8
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7.     a = 10 
        b = 5 
 
         b×b 
(area =) 25 (cm2) 


✓ 
✓ 
 
✓ 
✓ 


B1 
B1 


 
M1 
A1 
4 


 
FT  15 – ‘their a’ 
 
FT for M1 and A1,‘their b×b’ provided at least 
one B1 awarded. 
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QUESTION 7 CANDIDATE A 



Sticky Note

This candidate gave a correct response and scored B1 for a=10cm
B1 for b=5cm
M1 A1 for finding the correct area.



Sticky Note

Marks Awarded: B1 B M1 A1












QUESTION 7 CANDIDATE B



Steph

Polygonal Line



Sticky Note

Most candidates were able to find the values of a and b.
a=10 gave B1
b=5 gave B1



Sticky Note

Calculating the perimeter of the square, instead of the area, was a common error.
B1 B1 M0 A0
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7.	 The perimeter of the triangle is 30 cm.
	 The perimeter of the rectangle is also 30 cm.


Diagram not drawn to scale


	


	


	


	


	


	


	


	


	


Area of the square = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm2


Diagram not drawn to scale


	 Use this information to find the area of the square below.	 [4]
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Qu 8 Candidate A (U3 4353 01) 


 


 



Sticky Note

Finding the "extra minutes" or the "extra texts" gave the first mark.
B1



Sticky Note

Finding the cost of bill including the extra minutes and the extra texts gave the next two marks.
M1 A1



Sticky Note

One mark was awarded for the cost of the new contract. £30.
B1 awarded.



Sticky Note

One mark was awarded for stating if the new contract should be accepted. This was based upon the calculations.
E1 awarded.



Sticky Note

This candidate scored full marks. QWC 2 was awarded. The candidate presented their work clearly with words explaining process or steps. Relevant material has been presented in a coherent and logical manner, using acceptable mathematical form with few errors in spelling, punctuation and grammar.



Sticky Note

B1 M1 A1 B1 E1 QWC2












Qu 8 Candidate B (U3 4353 01) 


 


 



Sticky Note

£36.30 is the total bill including extra texts and minutes. This scored 3 marks.
B1 M1 A1



Sticky Note

This candidate has made a correct conclusion based upon their calculations.
E1



Sticky Note

The cost of the new bill (£30) is implied by this figure and so B1 is awarded for the price of the new contract even though it is not explicitly stated.



Sticky Note

This candidate was awarded 1 mark for QWC. There was a lack of explanation of the process and steps in the calculations and so QWC2 could not be awarded.



Sticky Note

B1 M1 A1 B1 E1 QWC1












Qu 8 Candidate C (U3 4353 01) 


 


 



Sticky Note

£36.30 is the correct cost of the bill for the month. This includes the extra texts and extra minutes. This scored B1 M1 A1.



Sticky Note

The cost of the new contract is £30.
This received B1



Sticky Note

The candidate has not made a conclusion. E0 is awarded.
Since there is no conclusion, communication is incomplete.
The calculations that arrive at the cost of the bill are linked with text. There are errors in the use of units eg. 0.12p rather than £0.12 or 12p. QWC1 is awarded.



Sticky Note

B1 M1 A1 B1 E0 QWC1












8.	 You will be assessed on the quality of your written communication in this question.


	 Ali pays £15 per month for his mobile phone contract.


	 His contract has a monthly allowance of 120 minutes of call time and 400 standard text messages.


	 If Ali goes over his allowance he must pay extra charges as well as his £15 contract price.


EXTRA CHARGES


Extra call time
35 pence per minute


Extra standard text messages
12 pence per message


	 Last month Ali used 150 minutes of call time and sent 490 standard text messages.


	 Ali is offered a new contract with double the allowance of minutes and double the allowance of 
standard text messages for double the original contract price.


	 Using only last month’s information, decide whether Ali should accept the new contract.


	 Give reasons for your answer, showing all your calculations.	 [7]


	


	


	


	


	


	


	


	


	


	


	


	


	


	
















































Qu 9 Candidate A (U3 4353 01) 


 


 



Sticky Note

Use of 1000g=1kg to convert units
B1



Sticky Note

Division by 450 and M1 is awarded.



Sticky Note

15X20 + 25 and m1 is awarded



Sticky Note

A1 is awarded for 325 minutes



Sticky Note

The final conversion of 325 minutes to 5 hours 25 minutes and B1 is awarded.



Sticky Note

B1 M1 m1 A1 B1.Full marks












Qu 9 Candidate B (U3 4353 01) 


 


 



Sticky Note

This candidate was awarded B1 M1 m1 A1 B0



Sticky Note

This was a common error. 
The candidate correctly calculated the cooking time as 325 minutes.
325 divided by 60 gave 5.416666.... with the aid of the calculator. This was wrongly interpreted as 5 hours 42 minutes



Sticky Note

B1 M1 m1 A1 B0



lewism

Sticky Note

Unmarked set by lewism



lewism

Sticky Note

Unmarked set by lewism



lewism

Sticky Note

Unmarked set by lewism












Qu 9 Candidate C (U3 4353 01) 


 


 



Sticky Note

A common error was using 1kg=100g in the conversion of 6.75kg.
This scored B0 but there was a follow through considered so long as the candidate worked with consistent units.



Sticky Note

This candidate has used their incorrect conversion of 675g with an appropriate method to find that the turkey needs 30mins plus the extra 25mins, to cook. The method marks were awarded.



Sticky Note

The candidate could not score the accuracy mark (Correct answer only) and could not score the mark for the conversion of minutes to hours and minutes. This was because 55mins could not be converted to hours and minutes. This was not a conversion of  equivalent difficulty.



Sticky Note

Mark awarded: B0 M1 m1 A0 B0












9.	 Gordon is planning to cook a large turkey for a dinner party.


	 He has the following information.


	 •	 The turkey weighs 6·75 kg.
	 •	 To calculate the cooking time for a turkey of this size, allow 20 minutes for every 450 


grams and add on an extra 25 minutes to finish.


	 Calculate the cooking time for this turkey. Give your answer in hours and minutes.	 [5]


	


	


	


	


	


	


	






















QUESTION 11 CANDIDATE A 4353-01 


 


 



Sticky Note

The candidate recognises the need to use equivalent fractions. 
The working has not been shown but the result implies that the candidate correctly calculated 1-( 1/4+1/8)
This is awarded B1 B1



Sticky Note

5/8 is £100 so 1/8 is £20.
This is awarded M1.




Sticky Note

Finally the correct names are matched with the correct multiple of £20. This is correct but was not required.
The total cost 8X£20=£160 is awarded A1



Sticky Note

Mark Awarded: B1 B1 M1 A1





















QUESTION 11 CANDIDATE B 


 


 


 



Sticky Note

This was the most common incorrect answer.
Many candidates calculated 1/4 of£100 and £1/8 of £100 then added the results with £100 to get £137.50.
B0 B0 M0 A0 were the marks awarded in this case.



Sticky Note

Mark awarded: B0 B0 M0 A0





















QUESTION 11 CANDIDATE C 4353-01 


 


 



Sticky Note

This candidate correctly calculated
 1/4+1/8=3/8. Although the working was not shown the candidate calculated
1-(1/4+1/8)=5/8
The marks B1 B1 were awarded.



Sticky Note

Even though the candidate had scored 2 marks from the above calculations the candidate did not know how to proceed.
The common error of finding 1/4 of £100 and 1/8 of £100 with a final answer of £137.50, is seen.
Overall 2 marks
B1 B1 M0 A0



Sticky Note

Mark awarded: B1 B1 M0 A0




















